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QUESTION 1

An administrator is setting up inventory items in storerooms and the company only wants certain items to be reordered.
Which field is used to accomplish task?

A. Reorder

B. Issue Unit

C. Reorder Point

D. Economic Order Quantity
Correct Answer: C

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg11J01576

QUESTION 2

Incorrect meter readings have been taken for gauge meters and characteristic meters. The system administrator has
been asked to correct the mistake.

How can the meter readings be corrected?

A. Add a new meter reading in the Assets application.

B. Add the correct meter readings in the Meters application.

C. Add the correct meter readings in the Meter Reading application.

D. Add the correct meter readings in the Preventive Maintenance application.
Correct Answer: A

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21970621

QUESTION 3

An asset requires maintenance on a monthly, quarterly and annual basis. Three job plans have been created to meet
this requirement called MONTHLY, QUARTERLY and ANNUAL. What is the correct job plan sequence that needs to be
used?

A. MONTHLY=1, QUARTERLY=4, ANNUAL=1

B. MONTHLY=12, QUARTERLY=4, ANNUAL=1

C. MONTHLY=3, QUARTERLY=4, ANNUAL=12

D. MONTHLY=1, QUARTERLY=3, ANNUAL=12

Correct Answer: A
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QUESTION 4

A company wants to refuse receipt on 2 of 7 items from a single PO Line which does not require inspection.
Which procedure will accomplish this and maintain the correct inventory balance?

A. Save the Receipt, Click the Select Receipts to Void button, Change the quantity to 5.

B. Save the Receipt, Click the Select Items for Return button on the PO Line, Change the quantity to 2.

C. Save the Receipt, Click the Select Receipts to Void button, Select the PO Line, Change the Quantity to
5.

D. Save the Receipt, Click the Select Items for Return button on the PO Line, Save the receipt, Receive the PO again,
but change the Quantity due to 5.

Correct Answer: C

Reference: http://www-01.ibm.com/support/docview.wss?uid=swgllV75811

QUESTION 5

A maintenance planner is in the process of planning time sensitive emergency maintenance work orders for a number of
assets where items need to be reserved.

What reservation type should be used?
A. Soft

B. Hard

C. Urgent

D. Critical

Correct Answer: B

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21580188
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